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31. Her presentation was well-received, but she needs to work on her delivery to ) her points more clearly.

(A) convene (B) convey (C) convince (D) converge

32. To remain competitive, companies must constantly innovate and with the latest technology.
(A) align (B) assign (C) ascend (D) allege

33. Learners’ emotions or , can influence their choices and actions they take. Studies have found that using Al can

(A) effect (B) conduct (C) apathy (D) affect

34. A sweeping law targeting hate speech went into effect in Scotland on Monday and drew criticism that it could have a

effect on free speech.
(A) deductive (B) chilling (C) deceptive (D) demonstrative

3. plants may store water.in various structures, such as leaves and stems
(A) Seductive (B) Sleazy (C) Splendid (D) Succulent

36. Snow leopards have _____...10 live.in.some. of the harshest-conditions on-Earth.
(A) devolved (B) dissolved(C)-evolved (D) revolved :

37. The restaurant received rave reviews for : .
(A) terrible service (B) dirty facilities (C) high prices (D) delicious food and"excel'l_ent serv_iee

38. In an effort to promote sustainability-and reduce environméntal |mpact the company |mplemented a series of initiatives to

(A) increase profits (B) expand its operations (C) minimize waste and carbon footprint (D) ignore environmental

regulations

39. Peterson is a student andalwaysdoes what he is told.

40. Neuroscientific studies are:supﬁorted of technological developments

(A) for continuing stream (B) in contmue stream (C) contlnumg a stream (D) by a contlnumg stream

[#ME’%3E]



41. The historical records showusthat climate change is not only possible=it is the normal state of affairs.
(A) conscientious (B) concise '_(C)' accessible (D) abrupt

42. 'm sorry, but I have never understood how people can golf an exciting sport to watch.

(A) find (B) regard (C):respect (D) reject

43. Ukrainian Prime Minister sa:i-d.th'at they hadno _ ‘to economic cooperation with Russia.
(A) alternative (B) decision (C) election (D) substitution

44. Rescue workers cooperated to help three men on an island in Micronesia.
(A) hardened (B) expanded (C) afforded (D) stranded

45. John did not think he could his opponent because h|s opponent was phy5|cally much stronger.
(A) deduct (B) defeat (C) declare (D)-dedicate

Regardless of the form of the Wedding people in the world always.focus on declaring their commitment to the marriage. Some

they set a date and hold an Akad Nrkah ceremony. In a publrc ceremony, twa elders act, as witnesses, and the couple is united in
marriage with the consent of both the man and the woman religiously and legally. Before the wedding, the groom must publicly recite
vows in Arabic. The groom mainly recites the vows in Arabic fluently and without interruption. If he stumbles or hesitates, he must
start over. More importantly, if he does not recite the vows fluently, it signifies-an-insufficient commitment, and the groom will not be
able to see the bride. After the Akad Nikah ceremony, _the bride will sIowa come out, and in the presence of everyone, the couple will

other cultures. Seeking a happy married life is apparently the common goal of human bemgs. Multiculturalism consequently could be
found and practiced in different ways. ‘

46. What is the most important concern in wedding according to the passage?
(A) the groom declares his good deeds
(B) the bride’s loyalty to the groom’s family
(C) declaring the good intentions of the bride’s and the groom’s famrlres
(D) making an announcement of allegiance in marriage

47. What is the significance:of the-Akad Nikahcteremony?
(A) The groom demonstrates his commitment to the bride and the marriage.
(B) The groom demonstrates-his-loyalty-te-the marriage by law and-in- faith, and then he will be able to see the bride.
(C) Itis one of the processes of the wedding ceremony and the bride is Wa|t|ng for the groom.
(D) It demonstrates the harmony -

48. How does the Islamic marrrage style manrfest the multrculturalrsm'? »

(A) Pre-marriage dating or engagement ceremony is not essential in Islamic weddmg, nonetheless, the Akad Nikah
ceremony is the mandatory ritual to show the abundant dedication to the marriage as well as integration of religion and
law. el ettt ieieie
to the marriage. el e

(C) Having dating or engagement ceremony is not critical, as Iong as there Is the Akad Nikah ceremony to demonstrate the
love of the groom to the bride. :

(D) Having dating or engagement ceremony is-not-critical, as: Iong as the newlyweds embrace each other, symbolizing
acceptance and blessmg """
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The relationship between joint.pain.and weather is complex.-Heather Bukiri, a rheurnatologi'St and assistant professor at
University of California in Los Angeles says that roughly two-thirds of her patients with joint inflammatory diseases, like arthritis
and lupus, experience weather-related joint pam

Several studies have shown that about 65 percent of patients experience Jomt pain durmg changes in weather
conditions—specifically during decreasesmbarometrlc pressure, mcreases in humidity, and decreases in temperature. Bukiri says
there are some theories for why changes in barometrlc pressure would cause’joint pain. One is that the spaces in between our joints
are confined spaces with sllghtly-negatlve pressure, and any pre'ssure changes outside the body can cause this space to expand or
contract, causing pain. ' '

To prevent weather-related pain, Bukiri said that patients should do their best to keep their home environments warm and dry,
and take pain medication preemptively to relieve symptoms. Most imjoortantly, however, patients should make sure to stretch and

move around during stormy, humid days.-“It's-one-of.the-best things yéou Ca;n«-do»toumai-ntai»nnyour joints,” she says.

49. What does this passage tnainly addressto?
(A) the most common reasons to see a rheumatologist
(B) managing the pain of joint replacement
(C) relationship between weather and Jomt paln

(D) risk factors for mo_rtall_ty in systemlc lupus

50. According to this passage, which statement is true about Heather Bukiri’s research?
(A) Additives contributes to joint inflammation.
(B) Barometric pressure can cause Jomt paln

(C) Less than half of Bukiri’s patient suffer from weather-related joint pain.

(D) About 65% of Bukiri’s patients are diagnosed with gout.

51. What does a rheumatologist do?
(A) deals with failure and serious chronic conditions of the kidneys
(B) treats allergies and disease of the immune system, such as asthma *
(C) treats and manages feet and lower limbs pain and diseases as well as injuries, to help keep people active and pain free

(D) specializes in arthritis.and other musculoskeletal conditions and systemic autoimmune diseases

[(11H % 5 H]


https://www.sciencedirect.com/science/article/abs/pii/S0002934306010266
https://journals.plos.org/plosone/article?id=10.1371/journal.pone.0216902

Learning motivation pIays-.a..-pi.vo.talmrol.é in academic-success, serving as the driving force behind students’ engagement,
persistence, and achievement in t'h'eiredvueat_i_onal endeavors. Motivation acts as the spark that ignites curiosity, propels learning, and
sustains effort through challenges-and-setbacks: :

Students with high levels of motivation are more likely to actively partrcrpate in class, eagerly seek out knowledge, and persist
in the face of obstacles. They demonstrateagenume enthusiasm-for Iearnlng viewing education not merely as a means to an end but
as an enriching journey of self- drscovery and growth I\/Iotrvated Iearners are inherently more resilient, bouncing back from failures
with a renewed determination to succeed. i '

Furthermore, motivation influences the depth and quality of learning experiences. Intrinsically motivated students tend to
approach tasks with a sense of autonomy and mastery, actively seeking to understand concepts rather than simply memorize facts.
They are more likely to demonstrate creativity, critical thinking, and ewilli:ngness to.explore diverse perspectives.

Conversely, a lack of motivation.can-hinder.academic performence, ;Ieading..tor.diseng.agement, apathy, and underachievement.
Students who feel disconnected from-their-studies may struggle té) find meaning and rele.vance in their coursework, leading to
feelings of boredom or frustration.

In conclusion, learning morivation serves as the cornerstone of academic success, shaping students’ attitudes, behaviors, and
outcomes in the educational landscape. By fostering aA cutture of ‘intrinsic motivation and providing opportunities for students to

cultivate their interests and passmns educators.can empower Iearners to unlock their fuII potential and thrive academically.

52. What role does learning motivation play in academic success according to the passage?
(A) Itacts as a barrier to engagement and achievement.
(B) It serves as the driving force behind engagement, persistence, and achievement.
(C) It has no significant impact on ACA0EMICSUCCESS. . o

(D) It only affects students’ attitudes, not their actual performance.

53. According to the passage, what is a consequence of students feellng dlsconnected from their studies?
(A) Increased curiosity and-enthusiasm.
(B) Enhanced engagement and participation.
(C) Struggles to find meening and relevance.

(D) Deep understanding and mastery of concepts.

54. Which of the following ideas is not highlighted as a consequence of Iackini_g motivatibn-in_ .tfh',e passage?

(A) Disengagement from studies and tasks.

(B) Development of apathy towards academic endeavors.
(C) Increased academic-achieveme-ntan-d-performénce. et |

(D) Underachievement and struggles-with coursework.

[(RITHEH"E 6 H]



Life in space is a huge adjustment-.-'-Besi'dés orbiting-the planet 250 miles above Earth’s surface, astronauts are snatched away
from familiar anchors such as the Adaityvrhyth_ms of sunrise and-sunset, the comforting presence of family, and the constant downward
tug of gravity. - -

These changes aren’t _]USt dlsorlentlng psychologlcally—space travel also causes massive physiological shifts. Chief among
them is a shift in fluids from the Iowerbodytothe trunk and-head‘while the astronauts float in microgravity. This can lead to anemia,
eye problems, blood pressure changes and immune dysfunctlon Accordlng to detailed measurements of astronauts during training
and on space missions, every organ system is impacted. : ’

A new study published in Immunology by Odette Laneuville, a molecular biologist at the University of Ottawa, and her team
tracked how these changes affected the immune systems of 14 astronauts during their sojourns aboard the International Space Station
(1SS). The study found genetic changes indicating a drop in immune function within.days.of arrival at the ISS, and a subsequent
return to baseline several months after.they.arrived. back on Earth The results.show.-how.the immune system rapidly adapts to
microgravity and gradually returns to-normal.-Scientists-can-thus use this kind of |nformat|on to better understand everything from

infectious disease threats during space travelto-how injuries might heal in weightlessness.
55. According to the passage, what is not mentioned about astronauts’ life adjustment in space?
(A) the diet | g
(B) the gravity '

(C) family relationship
(D) the Earth’s daily rhythms .

56. According to the passage, which is not true about astronauts’>
(A) Every organ system is |mpacted after a space Journey
(B) Some physiological changes can be found after a space travel.

(C) There are no symptoms of blood disorders during a space travel.

(D) Astronauts’ experiences of a space travel can give information for scientists to research into diseases.

57. About Odette Lancuvillc’s study, which is true?
(A) The research team was from the US.
(B) Astronauts’ immune systems. did not return to normal after they came back to earth.
(C) The research team collected data from astronauts from the Internatlonal Space Statlon

(D) While the astronauts were at the International Space Station, the astronauts immune functions were normal.

[(XITH S 7H]



Bilingual education programs-immerse-stutlents in-an-environment where two languages are used for instruction. These
programs are designed to not only teacha second language butalso to enhance academic achievement and cultural competence.
Studies have shown that children who participate in bilingual education from anearly age exhibit significant advantages over their
monolingual peers. These include cognitive benefits such as better problem- solving skills and increased mental flexibility.

One of the main challenges '[n"i'm'piement‘ihg bilingual education is ensuring that students achieve proficiency in both languages.
This requires a balanced approach to teaching, where-neither language is neglected. Effective bilingual programs integrate language
learning with content instruction, meaning that students Iea'rn_spbjects like math, science, and social studies in both languages. This
approach helps students apply their language skills in diverse academic c‘dntexts, enhancing their overall learning experience.

Community involvement is crucial in the success of bilingual programs. Parents and community members who support and
engage with these programs can help reinforce the importance of bilingualism, contributing to a more positive learning environment.
Additionally, well-trained teachers who are proficient in both Ianguages and familiar with cultural nuances can significantly impact
the effectiveness of bilingual education.

Public support for bilingual: educatlonoftenhlngeson the percelved benefltsWhllesome parents and educators advocate for the
cognitive and cultural advantages it offers, others.may.hesitate due to.concerns about academic confusion or delayed English
proficiency. It is important for schools to communicate the long-term benefits of bilingual education clearly and effectively to garner

broader community support.

58. According to the passage what is the main purpose of b|||ngual education programs?
(A) To effectively enforce the English as an international language policy in schools.
(B) To immerse students in an environment where two languages are used for instruction.
(C) To prioritize the use of the students’ native languages in-academic settings.

(D) To emphasize the importance of one language over another in education settings.

proficient in both languages and famlllar with cultural nuances can_ significantly impact the effectiveness of bilingual
education.”

(A) subtleties

(B) nonsenses

(C) similarities

(D) generalizations

60. How can schools improve public-support for bilingual education?

(A) By focusing solely-on-traditional teaching methods :
(B) By reducing the number of languages taught © ..., o
(C) By communicating the long-term benefits clearly 5

(D) By increasing program costs

[(RITHEH"E8H]
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